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Note :  Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper. '
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Attempt four questions in all, selecting one question from Section A and
three questions from Section B.
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All questions in Section A carry 15 marks and A/l questions in -
Section B carry 20 marks.
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1. Define base and superstructure. Explain how changes within these are responsible for a
transformation of social formation.
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What are the new insights provided by Irfan Habib in trying to analyse the process of

transition from feudalism to capitalism particularly for Western European socicties ?
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Do you think that capitalism is essentially a ‘self-ordering’ system ? Why does Heilbroner

feel .that capital cannot exist even for a day, without the active support of the state ?
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“The problem that is usually being visualised is how capitalism administers existing structures,
‘Whereas the relevant problem is how it creates and destroys them.” Evaluate this statement -

of Schumpeter in the context of his defence of monopoly capitalism.
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Explain the “intemnal logic™ of the working of the Capitalist system with an explanation of
the process by which capital . accumulation accomplishes the central task of organisation

and disciplining of social acnvny.

employment through govemment spending.
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What are the possibility and necessity theories of crisis ? Explain the scope of Govemment

Intervention in counteracting the possxble impact of capitalist crisis.
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Analyse how the world of big business and finance is different from that in the.

conceptualisation that Lenin made in “Imperialism”. Does this make Lenin’s theory imelevant

‘to the analysis of contemporary capitalism and the world economy ?
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